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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]

2800
2600 -
2400
2200 -
2000 -
1800 ~

1600

1400 -

Warning: col ["ECC, "FVIEC'] is missing

10

15

20

25

30




Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-10

AriE) | BRI (D) | EHE (EH/HK) | XK ERR

06:40 152 70.0 (Z=| {Rig@06:40 Bz CGRAERSE)
07:15 152 70.0 FA| 1Bi&@07:15 Bzh (RAMEEEE)
07:50 152 70.0 FH| 1Bi&@07:50 Bah (RAERES)
08:25 152 70.0 |Z=| {Ri&e08:25 Bzl (KREMERHE)
09:10 152 70.0 BS| 1Ri%e09:10 Bz (GREMEEEE)
09:45 152 70.0 Rg| 1Ri%e09:45 B (REEREE)
10:20 152 70.0 BE| Ri8e10:20 Bal (REAEHSE)
10:55 152 70.0 S| {Rig@10:55 Bzl (REAERE)
11:35 152 70.0 RS Ri%e11:35 Bz (REAERESR)
12:30 152 70.0 | 1Rige12:30 Bah (REERESE)
13:30 152 70.0 BE| Rige13:30 Ba (REAEHE)
14:10 152 70.0 e Rige14:10 Bz (REAERSE)
14:50 152 70.0 el Rige14:50 Ba) (REAEESE)
15:40 152 70.0 S| Ri%015:40 Bz (REERESE)
16:35 152 70.0 RS 1Ri%e16:35 Bzl (REAERESE)
=1t+]2280.0 (15)%) 1050. 0 32933 %EC: 2080.0, PH: 6.0

MERRNER S 5STREAERE (195.0 : 138.0), AJEEHF—RZ XA45
ERGEBRRTAC (300) 5THA (152. 0) AN, W EEHH T % MEERSE XIER
ZRIAKFRERE138.0 ml.

RE R 13 ELRECEIE TR K.

REXEEBIEC (2663.0) 5% FEEC (2000.0) REKR KA, FHE

BB RECE (2663. 0 vs 3646.0) 1R

RER B HEREC/PHIETRR, W BERIMAEELR R
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P3-10

BflE | GEBRTK () | ERE(EA/K) | XS IR

07:20 190 70.0 | BE| {Rig@07:20 Fzh CGRERESE)
08:00 190 70.0 Rg| 1Ri%e08:00 Fzh (KL
08:40 190 70.0 BE| 1Ri%e08:40 Fxh (KRFERS)
09:20 190 70.0 BE| 1Ri%e09:20 Fx (KREERKSE)
10:00 190 70.0 RS {Ri&@10:00 Fzf (KREERE)
10:40 190 70.0 Rg| 1Ri%e10:40 F3 CGREERE)
11:15 190 70.0 | BE| f{Riget11:15 Fzh CGREAKESE)
11:50 190 70.0 BE| 1Ri%e11:50 Fz (REAERSE)
12:30 190 70.0 S| Ri&e12:30 Fzi (REAERSE)
13:15 190 70.0 B 1Rige13:15 Fzh (REERESE)
14:00 190 70.0 RS {RiRe14:00 Fzf (REAERSE)
14:45 190 70.0 Rg| 1Ri%e14:45 Fz CGREERSE)
15:35 190 70.0 BE| 1Ri%e15:35 Fz (REAERSE)
16:50 190 70.0 BS| 1Ri%e16:50 Fzh (kRFERESE)
21| 2660.0 (14)%) 980.0 ¥ 33 %EC: 2080.0, PH: 6.0

TERRHERE STEEART (124.0 :

PRIASLPRIEBE87. 0 ml.

87.0), AIREAT—A%E XAE5
LRGEREE (190) 5748 (152. 0) FF, FIREH T & REEIRS %2 XER

REREEBIEC (2620.0) Hi&EEC (2000.0) REIK, BHE




P3-10_0, Day=26 (2025-04-28)
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